ave.marginal.effect <- function(model.obj, eff) {
mu <- coef(model.obj)["(Intercept)"]
beta <- coef(model.obj)[eff]
gamma.order <- coef(model.obj)["revised.order"]
theta.string <- paste(eff,"revised.order", sep=":")
theta <- coef(model.obj)[theta.string]
log(0.5*exp(mu+beta)*(1+exp(gamma.order+theta)))

}

se.marginal.effect <- function(model.obj, eff) {

mu <- coef(model.obj)["(Intercept)"]

beta <- coef(model.obj)[eff]

gamma.order <- coef(model.obj)["revised.order"]

theta.string <- paste(eff,"revised.order", sep=":")

theta <- coef(model.obj)[theta.string]

g.prime <- rep(0, length(coef(model.obj)))

names(g.prime) <- names(coef(model.obj))

## we are giving g.prime names interherited from the model object for correct substitution
later on

g.prime["(Intercept)"] <- 1

g.prime[eff] <- 1

g.prime[theta.string] <- exp(gamma.order+theta)/(1+exp(gamma.order+theta))

g.prime["revised.order"] <- g.prime[theta.string]

var <- t(g.prime) %*% vcov(model.obj) %*% g.prime

sqgrt(var)

}

ave.marginal.control <- function(model.obj) {
mu <- coef(model.obj)["(Intercept)"]
gamma.order <- coef(model.obj)["revised.order"]
log(0.5*exp(mu)*(1+exp(gamma.order)))

}

se.marginal.control <- function(model.obj) {

mu <- coef(model.obj)["(Intercept)"]

gamma.order <- coef(model.obj)["revised.order"]

g.prime <- rep(0, length(coef(model.obj)))

names(g.prime) <- names(coef(model.obj))

## we are giving g.prime names interherited from the model object for correct substitution
later on

g.prime["(Intercept)"] <- 1

g.prime["revised.order"] <- exp(gamma.order)/(1+exp(gamma.order))

var <- t(g.prime) %*% vcov(model.obj) %*% g.prime

sqgrt(var)



}

ave.marginal.contrast <- function(model.obj, eff1, eff2) {
betal <- coef(model.obj)[eff1]
beta2 <- coef(model.obj)[eff2]
gamma.order <- coef(model.obj)["revised.order"]
thetal.string <- paste(effl,"revised.order", sep=":")
theta2.string <- paste(eff2,"revised.order", sep=":")
thetal <- coef(model.obj)[thetal.string]
theta2 <- coef(model.obj)[theta2.string]
betal + log(1+exp(gamma.order + thetal)) - (beta2 + log(1+exp(gamma.order + theta2)))

}

## standard error of the average marginal contrast
se.marginal.contrast <- function(model.obj, eff1, eff2) {
betal <- coef(model.obj)[eff1]
beta2 <- coef(model.obj)[eff2]
gamma.order <- coef(model.obj)["revised.order"]
thetal.string <- paste(effl,"revised.order", sep=":")
theta2.string <- paste(eff2,"revised.order", sep=":")
thetal <- coef(model.obj)[thetal.string]
theta2 <- coef(model.obj)[theta2.string]
g.prime <- rep(0, length(coef(model.obj)))
names(g.prime) <- names(coef(model.obj))
H## we are giving g.prime names interherited from the model object for correct substitution
later on
g.prime[effl] <- 1
g.prime[eff2] <- -1
g.prime[thetal.string] <- exp(gamma.order+thetal)/(1+exp(gamma.order+thetal))
g.prime[theta2.string] <- -exp(gamma.order+theta2)/(1+exp(gamma.order+theta2))
g.prime["revised.order"] <- g.prime[thetal.string] + g.prime[theta2.string]
var <- t(g.prime) %*% vcov(model.obj) %*% g.prime
sqgrt(var)

}

#Add translucent color function.
addTrans <- function(color,trans)
{
# This function adds transparancy to a color.
# Define transparancy with an integer between 0 and 255
# 0 being fully transparant and 255 being fully visable
# Works with either color and trans a vector of equal length,
# or one of the two of length 1.



if (length(color)!=length(trans)&!any(c(length(color),length(trans))==1)) stop("Vector lengths
not correct")

if (length(color)==1 & length(trans)>1) color <- rep(color,length(trans))

if (length(trans)==1 & length(color)>1) trans <- rep(trans,length(color))

num2hex <- function(x)

{
hex <- unlist(strsplit("0123456789ABCDEF",split=""))
return(paste(hex[(x-x%%16)/16+1],hex[x%%16+1],sep=""))

}

rgb <- rbind(col2rgb(color),trans)

res <- paste("#",apply(apply(rgb,2,num2hex),2,paste,collapse=

return(res)

nn

),sep="")



